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X_ground = x_frain + v_frain * t
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X_ball_ground = x_ball_train +v_train * t
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x_ball_train =x_ball_train_0 +v _ball train *t
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x_ball_ground = x_ball_train_0 +v_ball train *t+v_train * t
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v_ball_ground = dx_ball_ground/dt= 0.+ v _ball_train + v _train

=v_ball frain +v train
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T0 obiain the eleciromagnetic wave eqguation in a vacuum using the modern method, we
begin with the modern 'Heaviside' form of Maxwell's equations. In a vacuum and c harge free

space. these equations are:
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Taking the curl of the curl equaiions gives:
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By using the vector identity
BV X V)=V (V.-V)-VV

wihiere N is any vector funciion of space. it furns into the wave equations:
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